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And for the air; to be suspended - NonY RIMIRKY

Overview

The X723 explained that originally they were X720 13 on 2°1¥:1 ¥R only m?n2, but
there was no 717°12 on the airspace of 2°»¥77 ¥R, then came the 7w '©7 13127 and were
an3 to be A7 on the w3 and be 770 on the 2’1y ¥R "R, Our N19OIN reconciles
our X} with other N1,

nooIN asks:
- 19N NYY NUHI) Y1 PNNLN IIN (2 mawn 2 pr9) MINN NIDNA 99T NN

It is astounding; for we learnt in a mw» in MR noon; ‘these are Nuwn

through touch or carrying but are not »v» in a tent -
= 09N NIN) NIYYWI ONY
A bone of a dead person the size of a barley and 227 Y9R’; it is obvious that there

is no XMV for being in the airspace of ¥ ¥R, hovering over the ground, since the ground is
not 2R Xnwvn. How can we say here that there is 2°»v77 IR NRM™Y in its IR (at least M9nY)?

N1B0IN answers:
- 25895 YIND D3YN YIND 99Y NOANY 11D 59510 BNNT MY U

And one can say that the 7i1wn there is discussing for instance where he

brought earth from 2°%p77 98 to 3''R; in that case it is not Xavn. However if a person (or
7mnn) goes into the actual 7R of the 0°nyn v2X, he will become Xnv (at least m7n?).

Another answer:
- 3bm<: JPNNVN PR O712Y 293P 9INT PYNIY 293 ) ON

Or you may also say; that 71wn (which states there is no 2y yIR2 2R NRMY) is

like @''2 who maintains that the graves of 2''15¥ are not X»v» in an %7 -
- *Bn99apm 90 BIMYN YIND 1NN KT

' One becomes xnv if he either touches or carries (without direct contact) an 77¥YWw2 QXY or 21y YR (the earth of
any country outside 2% yIX). However if he hovers over them or is under the same roof (97X) with them he will
not become Xnwv on account of PMK nxMw. It does not apply to these two NIRML.

2 If he touches or carries it in *"x he will be Xnv, however if he is in the same 9738 with it in >"X, he will remain M.
The worst that could be is that there is an 7MWW 2%V in this 99Y, but an 7MYWD %Y is not Y82 Xnwn. However in 79X
o°nyn it is possible that he is being 2’781 over an entire nn.

3 5% DRV by a Nx is written in the 70 (77,0 [NPR] 127T2) where it states 7R3 X K27 99 2782 N °9 TR 771A7 DT
o°n2 NYW R 2IR2 W 22). According to w" only 8w are called o7x but not 2"1oY, therefore they are not Xnvn
5axa. See 2,7°p n'"a.

* One of the reasons they were 7XMY 713 on DA YN is because the 2"y would bury their dead anywhere, so we
are concerned that he may come in contact with a corpse or skeleton. They later expanded this 717°73 on 771X because
he may be 7’x» on the n». However according to w"3 who maintains that 9782 1Xnvn PR 2"19Y 12p, there is no
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So they were no more stringent in 2°»v;7 & than the actual graves of n"13y.”

noon offers a final answer:
- 7252 XYM Yy NHN 611‘1’1N H5¥ 19Y N9 07 NIV NMIYN NIINT NIH T

And another answer is; that 7aw» (in m>7x) was taught before they were 213
on the 2nMYn IR MR, they were only 713 on X3 alone not XAMX.

mooin finds support that the 71wn in M27X was before the 77°T3 on DAY PR IX:
- 295 KYY NN U MYNY XU Y MNP $9U10 199

And so too it seems (that the 71wn in NM?7R was before the 77°1 on 21V IR KR)

since the X123 here states, ‘they were 213 on nv»n% X3 and on 777X nothing’ -
= 0195 XYY NN DI 9INP INNIN)

But why does the X713 choose to say; ‘and they were not 91 at all on 79K’ -
- IND INDTI NN I GYIUY KW HY 191 91029 MINY 179999 5Y 191 RIPIYNT NIy

Let the X713 say; ‘that originally they were 2113 on both (X77X) Xu13) m»n» and

subsequently they were 2113 on 719w X213 and 7778 remained as it was mbn>’
= N DY 19T XD XY DY 19V AONNNT MTNINT PNINNN NIINT DIVN NIN

Rather the reason the &7 did not say it in this manner is because it is evident
from the 7aw» in M»aR (that 2°»Y7 ¥OX is not 2782 Xnwun) that in the beginning
when they were 9113 on X213 they were not 9113 on J9%K.

mooIn anticipates a difficulty:
= DY NIN (0w 3,1 97 Y1) 1D 9992 9912 S¥aT N

And this which the X723 queries in 9312 ND0»n regarding 2%2Y7 79I -
- 5155 998 XU DIV IN 199 191 NANN DIVN

‘Were they 2112 on it because of X9, or were they 9112 on it because of X’ -
— NI 9INRPTI I 9) NIINRT NOIWI KD

But it is obvious that they were also 9713 on X9%X as the X7») states here, so what
is the query there in 117!

mooIn replies:

reason to be 71 on the 7" if there is no XMW even on their actual grave.

> However our X723 maintains the 213y ™2p are 2782 Xnun, so eventually they were T that even 27 IR K is X,

® Therefore 0y 72X is not 277X Xnun. However once they were M3 on XX it is N2N? Xnvn.

7 npon is referring to the second answer (2193 822 XIMXKY MN% KWK N 7eK). It cannot mean the last answer,
because what will the 71w '57 1321 (or XwIX) have accomplished ?"p.

¥ The simple understanding of this query is whether one is allowed to enter the D»v;1 X where he does not come in
contact with the land. If we say w1 o01wn he will be permitted, but if we say 77X 21wn he will not be permitted.
However since our X713 states clearly that they were 7713 on X7"IX, what is the query there; it is definitely &nun?!

2
TosfosInEnglish.com



RIIRRY 7"7 '010 2,00 naw 702

= 1939 DIV DY NIN 9PINA D9 XYY 1Dy 19T 7n99N DIYM RYIND 990 BN NN
Rather it is necessary to say that this is the explanation of the query there; when
we say (here) that X7 ¥ 1713 does that mean that they were 213 on the actual

9%IX so that no one can enter 2°%¥:7 ¥R in any manner -
- 99319 712950 NTIY 21 Y 199N

Even through a %7321 771230 779w, for he is still in the 2y 7R X -
- Munn by raxm MDY YN 01N N

Or is the 77°12 on 2°¥7 PIX MK (not on account of the "X itself, but rather)

because of the w13; meaning the "X is X»vn since he is %9718% on the 213 -
£V ST NN NPV ST Y 1D YN YY ANN IPNRYI YaN

However when he is not 93;18%» on the w3, for instance that he entered the 7R
o°ny71 through a 97321 7290 779w he will remain 231, since he was not H¥ »38»
7.

Summary
The mawn which states that 2°2¥77 PR is not 282 Xnvn can be understood; a. he

brought the 79Y into *"X, b. it is according to w"9, or c. it was before 777X N7

Thinking it over
According to the side of the query that they were 713 on X2 21w XK, since he is

Saxn on a nn,'> what is the purpose of this 7713, for Jws1 7n if he was in contact
with the v he is certainly ¥»0 and if he was not in contact with the w1, meaning
he entered in an enclosed box, so he is 717V in any case, whether there is a 77°73 on
RWIA DWH RIK or not.

° The n"37 M7 amends this to read 112 wnn R (instead of 171 79MR).

' These are loosely translated as a chest, a box and a cabinet. This means that the person (or 7217n) was carried into
the 0y ¥R in one of these containers so he did not come in contact with oy yX w1 only with the airspace.

' See “Thinking it over’.

12 See footnote # 11.

13 See xRN 71"7 *"wA for one solution; is there another?

3
TosfosInEnglish.com



